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Note:

Not all diagrams are drawn to scale.

SECTION A (60 marks)

Choose the correct answer. You only need
to write down the letter preceding the
selected answer.

RS
/i;% .

oW E MR & E o

FAER (60 4)
b EREA A E o B4 RJAM F AT
BKEFT R L FH o

1. The cost of a flat was $6 000 000
when corrected to the nearest million
and $6 500 000 when corrected to the

nearest hundred thousand. Which of
the following could be the possible
cost of the flat?
A. $6 395000
B. $6 447 000
C. $6 498 000
D. $6 509 000

1. ¥ HEERAEMEEGT ZE 4 4
$6 000 000 & VL B IR LA £+ &
15 4% 2 $6 500 000 o A Tk —3A
RE & AR 2

A. $6 395 000
B. $6 447 000
C. $6 498 000
D. $6 509 000

2. Which of the following is incorrect?

A. All even numbers are multiples of 2.

B. All prime numbers are odd
numbers.

C. All composite numbers have 3
factors at least.

D. If the sum of all digits is divisible
by 3, then this number is divisible
by 3.

2. THRIARS L R ARG 7

A. TR BHARAE 2 49453 -

B. PT A E AR T o

C. THARER YA IMEAHK -

D. 4= R A8 30 T A HF X Ae
AE AR 3 E TR o AR R i B HAL E
W3 TR o
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SECTION B (40 marks)

Working steps must be shown in

answering questions in this section

unless specified otherwise.

IR (40 %)

PRAF R A5 RSN 0 R SRR M A

AT o

31. The following table shows the
number of students joining the

summer courses of a school.

SAEANE o

31. FARBAT X SRS F 4 BRI

Number of students joining summer courses of a school

X SRR B PRI 6 F A A

.. STEAM competition ..
Speech training course Painting course
course
A 3% PE . 4 Z I
A STEAM 35t & 3 =7
Male % 8 y 12
Female 4 13 5 14
(a) What is the total number of male () mE R ZHELpPrey 5 4 3k
students in the summer courses? HE5r? (REgHEE X
(Give the answer only and Ly KT
express the answer in terms of y) [2 4]

[2 marks]

If the total number of students
in the STEAM competition
course is equal to the total

(b)

number of students in the Speech
training course, how many male
students are there in the STEAM
competition course? (Use
equation to solve the problem
and show your working steps)

[4 marks]

4o R 4 m STEAM 3% & 32 ¢4 48
AP FHILG L AZATF
STEAM # £ NA % V4ix B
A2 (VARAFREINXFHE
Je 7 3 B

(b)

[4 2]
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1. B
BIBA:1-23:4:6- 12(61)
BIBB:1 27 14 (4 &)

BIBC:1-2 48 16(5M@)
BIED:1°2°3:6-9 - 18(61@)

2. B

3. C
10+2=12

4. C
25100 fEAEERZ 1 54 x 100 = 5400

5. A
BIEA 722

EIAB : 702
IBIE C : 666
BIED : 684
6. B
AIAERMERKEER
IBIE A 284 x 31 = 300 x 30 = 9000
JBIE B 1 317 x 38 = 300 x 40 = 12 000
JBIE C 1 418 x 22 = 400 x 20 = 8000
SEIE D : 385 x 19 = 400 x 20 = 8000
7. D
8. C
FERTF 1 468+22=21 (i) - 6 (F) - ZKLFERF 2@ -
9. A
ZARJER : (600 - 6) +22=27(g)
B

BAEEE - — - L =
11.C
12.B
BIEA 605
BIAB ¢ 1.1
EIHC: 56
BIED : 5.65
13.D

15.D
RGBT IR © 4x4+6x4=40(cm)
16.B
EEFEAREAR 2 BB/ N -

i ]
O A v

JASRRZ 120 x2 =40 (cm)

EERE 20 x20 x 2 — (20 — 6) x (20 — 6) = 604 (cm®)
18.C
HABEEE 1 40 + 60 + 140 + 40 + 100 + 20 =400 (A)

B Pre-S1 HKAT BIBRIDIRRE RERRE (RIZ2IR)
N BREFVESE

=
[== g 3N

mepy O

EEEL:
19. EER : 1314+873-7.6=9$211.1
20. (a) GHIZ LR : 864 + 36 = $24
(b) 672 + 24 =9$28 : FE P FHMHER D $25 - MFHE Q AIZ R
$25: P
21. HFER : 6x6x8=288 (cm’)

1. s

C

O g 3] H1ER 30000 °

@ HER 3] KER 300 -

® B(EHMEZE : 30000 - 300 = 29 700

9000 + 30 =300 (1)
5. C
FEE © 900 000 — 600 000 = 300 000
6. C
T A - BAMD : BURBUMEZE BAz&#0=2 420 000 ©
IE C : BULMEZR B4 2 410 000 °
7. D
P« Q1 R EGAMEZE &(1£ERZE 380 000 °
S BGRMBEZE & A118 =2 370 000 °

8. D
E—EHECEUEZ 8% ERNBUEFELTER0 - R
BER2 o

9. C

RIEMEBBMEBABILUE - ZEEFE 14 500 000 F1 15 499 999
2B RBERETEMEBALLE - ZEEE 15000 000 F1
24999999 2 [E o FLA + ZZR1E 15000 000 F 15499 999 Z [ ©

2. =AilER NmiE

C

© BEHHR—E=AF  SL6cm -
KR 6x2=12cm °

@ BEFDHEREE : 12x6+2=36(m)

HER  4x2x2x2+2-4x2+2=12(cm?)

AR 8x(12x2+8)—12=12 (cm’) 3K
12x2—12=12 (cm’)

3. A
HEHXIE=ZAK et
6x2+3=4(cm)
BE=ANE=Ae=AFNE HEHEE:
8x4+2=16(cm)

4. B
TER : 180+ 10-6=12 (cm)
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EBEE: (BARZE)

() BRAFHERIETER  TRERD -

) BRAKREXRE  ATREHS -

B) REER (RIEEREMN) - REX - AHK15 -
4) # REFE - XFHH - BEUSERAAEBRERERE M1D 2EBSRMN3IA -

EsE (—)
BRI (605) BE2H
B | BR
1 C RIBEIRZEBBAERILE - ZIEETL 5500 000 7 6 499 999 2 [ ©

RIEIME TBLIRATEME - 2B 6450 000 F16 549 999 2 ] -

FR LA 25227 6 450 000 F1 6 499 999 7 [ o

2EEREHBERE -

EHRP/IRQ  FIAP+QEQM2Q 2 - BITAIEEE Q HIZEK -

MEREHNBEREMNLCM.  BEEFIMHCFE &1 °

|||

> 0| w|w

FRAK
(9%x100-4)+ 14
= 64 (cm)

HMERBREEN
12
—_t —
45
Bk

" 20

EEBEO MO B DRI - SHERFANELER - THFHHEER -

EEELIBANMB - AMEBES) : BEELIERCHMD - DHEER) - At -

29 5
MBI A= 1—
= 24 24

37
#IF D: —
R0

O
/N

=
™

FHEH A D ERLE -

FAZ © 169.8705 — 169.8507 =0.0198

10

HELEH
703-124+703
= 128.2 (kg)

11

mQIREEFITK -
2-(3-205)
=105 (L)

12

13

14
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